[ normalized x? probability |

1072

10°F
E 0.03]
L
107 0.02
10°F 0.0
o B i e i T
I IR afitind
= I ET S
b i iEE . A A R
0 2 4 6 8 10 12 14 16 18 20 0 0.10.20.30.4050607 0809 1
Na Prob(x?)
w=a== DOM_TT__origmal_PU
s DQM_TT_pL__20_PU
s DQM_TT__pL__21_PU
s DQM_TT__pL__22_PU
s DOM_TT__pL 23 PU
A 2r -
s F :
S TP TN EETE T X T ERERTP-TP AP
% F :
Vovelk- Ao -
vap At H- R -
2B e b4 - LRREE
1
0.8H
0.6p---- ko g p
o vy
T
o
0953 1 2 3
n
A 3C A [
2 f : : : 2 18f-
RSP < 1of-
v o v E
| S S A1 | A 14p-
E 1.2F
15k -5 CRERRTI -
E 0.8F-
1'+ YUMo 0.6fF
0.5f-------- eeeeeas R RERCEETE 0'4;'
L 0.2
o 1By | o GF
© ©
v @
1 0.5
0. . . (e —
107 10? Jo 10 1072
T

1 -1
AR(track, jet?



	Contents
	Page 1


